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B.Com. (Semester - VI) Examination, April 2013
Major — I : BUSINESS MANAGEMENT
Marketing of Services — II

Duration : 2 Hours Max. Marks : 80

Instructions : 1) Figures to the right indicate maximum marks.
2) Answer each new Question on a new page.
3) Question 1 and 2 must be of 100 words and questions 3 to 6 of
400 words approximatel ly.
4) There is an internal choice for questions from 3 to 6.

1. Explain any four of the following : (4x4=16)
~ @) “Adventure tourism” as an emerging trend in tourism sector.

b) Any two components of hospitality.

¢) Explain the concept of “Credit Card”.

d) Explain any four functions of tour operator.

€) Ashort note on SIP.

f) Pricing of Indian Railways.

® 2 Explainany four of the following : (4x4=16)
a) Importance of insurance.
b) Need and importance of fi(e insurance.
¢) Meaning of BPO and KPO.
* d) Conceptof green marketing.
e) Ashort note on Internet.

f) GSM v/s WLL technology.

P.T.O.
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3. a) Explain the meaning of tourism products and what are the Demand factors

of tourism. 12
OR
b) Formulate marketing mix for airlines.
4. a) Explain any six traditional financial products offered by the banks. 12
OR

b) Explain any four monetary control techniques used by the RBI.

5. a) Explain meaning of Life Insurance and explain any four types of Life

Insurance Policies. 12
OR
b) Discuss the recent changes and emerging trends in the Indian Insurance
Market.
6. a) Explain E-Mail and Web Marketing as network services. 12
OR

b) Give SWOT analysis of Speed Post as a courier service.

i

P
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B.Com. (Semester — VI) Examination, April 2013
BUSINESS ECONOMICS
Indian Economy b

Duration : 2 Hours Max. Marks : 80

instructions : 1) All questions are compulsory, however internal choice is
available.
2) Answer subquestions in Question 1 and Question 2 in not more
than 100 words.

3) Answer Question 3 to Question 6 in not more than 400 words.

4) Figures to right indicate maximum marks to the question/
subquestion.

A Briefly answer any four of the following : (4x4=16)

i) Write any two differences between economic development and economic
growth.

ii) Explain four features of indian Economy in 1950.
i) Explain in brief what is meant by Human Development Index.

iv) Briefly explain the contribution of Indian Agriculture to National Income and
Capital Formation. g

v) Write the causes responsible for low productivity of Agriculture in india.

vi) Whatis meant by co-operative marketing ?

2. Answer any four of the following : (4x4=16)
i) What are Trade Related Investment Measures (TRIMS) ?
ii) Write four limitations of Public Sector undertakings in India.

iii) Write main features of New Indusirial Policy of 1991.

P.T.O.
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iv) Explain in brief the role of small scale industries in promotion of employment in

India.
v) Explain the contribution of foreign trade to Indian economic development.

vi) Write the significant changes that have taken place in direction of India’s
foreign trade.

3. A) Critically examine the Rao-Manmohan Singh Model hased on LPG Model
for India.

OR

B) Explain five significant achievements and five failures of economic planning
in India.

4. A) Explain the following sources of rural credit :
i) Regional Rural Banks
iiy Co-operative Credit

iii) NABARD.

OR
B) Examine the impact of WTO on Agricuitural Sector of India with special
reference to Agreement on Agriculture (AQA).

5. A) Explain the following :
i) Benefits and costs of Multi-national Companies in India.
i) Role of industrialisation in Indian economic development.
~OR
B) Explain six problems faced by small scale enterprises and write four steps
taken to improve the working of small scale industries in India. - '

w

6. A) Explain in brief the concept of Globalisation and examine the impact on India.
OR
B) Answer the following :

a) WTO and Indian Economy in post 1994 period.

b) Trends in imports since 1991.

12

12

12

12
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B.Com. (Semester — VI) Examination, April 2013
MANAGEMENT OF SALES FORCE, SALES PROMOTION AND PUBLIC
RELATIONS
(Vocational Group)

Duration : 2 Hours Max. Marks : 80

Instructions : i) All questions are compulsory. However internal choice is
available.

if) Answer the sub-questions in 1 and 2 in not more than 100 words.
iif) Answer Q. 3to Q. 6 each in not more than 400 words.
iv) Figures to the right indicate full marks.

1. Answer any four of the following questions.

a) What are Premiums ? Explain the methods of giving away premiums as tool
of sales promotion,

16

b) Explain any two advantages of sales promotion to the consumers.
¢) Explain the role of exhibitions and fashion shows in sales promotion.

d) What is sales force oriented sales promotion ? Explain any two tools used in
sales force oriented sales promotion. <

&) Explain the definition of Public Relations given by BIPR and explain the key
words therein.

f) Distinguish between Publicity and Public Relations.

2. Answer any four of the following questions.
a) “Sales Promotion should be Non recurrent activity”. Explain.

b) Explain the care which promoter needs to take while using free samples as
tool of sales promotion. =~ —_

16

¢) What are sales contests ? Explain factors to be considered while org.

anising
sales contests.

d) Explain any two advantages of sales promotion to the producers.
e) Briefly explain the ethical aspects of Public Relations.

f) “Proactive Public Relations is offensively oriented than defensively constituted”. e
Explain.

P.T.O.
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3. A) Discuss and analyse the definition of sales promotion. Also explain the

fundamental principles of sales promotion. 12
OR
B) Explain whatis Trade Oriented Sales Promotion and the different types of
assistance given by the promotor to the distribution network. 12
4. A) Discuss the importance of evaluation of sales promotion programme and any
four methods of evaluation of sales promotion programmes. 12
OR
B) Discuss the ethical aspects of sales promotion practice. 12

5. A) Explain the importance of Public Relations in view of the changes which have

happened in business environment in the recent times. 12
OR

B) Distinguish between Proactive and Reactive Marketing Public Relations, =

explaining therein the importance of Public Relations in Marketing. - 12

6. A) Explainany four major tools of Public Relations with their respective advantages
and disadvantages. : 12
OR
B) Discuss the key decisions which a promoter has 10 correctly take while
organising a sales promotion programme. Also explain the importance of
pre-testing a sales promotion programme. 12

-

"
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B.Com. (Semester - VI) Examination, April 2013
INDUSTRIAL MANAGEMENT - Ii L

Duration : 2 Hours Max. Marks : 80

Instructions : 1) Ail questions are compuisory, however internal choice is
~ available.
2) Answer subquestions in Q. No. 1 and 2 in not more than
100 words each.

3) Answer questions from Q. No. 3 to 6 in not more than 400 words
each.

4) Figures to the right indicate maximum marks allotted to the
questions.

1. Answer in brief of the following (any four) : (4x4=16)
é) Emefson’s efficiency incentive plan.
b) Factors determining wage rate (any four).
c) Advantages of time wage system (any four).
d) Trade Union Movement in India.
€) Features of profit sharing (any four).

f) Non-monetary causes of Industrial conflict.

2. Write short notes on the following (any four) : (4x4=16)
a) Prevention of industrial boﬁflfét. e :
b) Consequences of industrial conflict on employe\r. :
¢) Works Committee as a form of workers participation.
-d) Joint Management Councils.
e) Objectives of labour welfare.

)
f) Workers Cooperatives.

P.T.O.
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3. a) Explain the following regarding piece wage system.
i) Meaning
i) Merits (any four)
iii) Limitations (any four).
OR
b) Explain fhe following incentive plans :
i) Halsey Plan
-ii) Rowan’s Plan

iii) Taytor’s differential piece rate plan.

4. a) Explain the meaning and functions of Trade Unions.

OR
b) What are the challenges faced by Trade Unions in modern times ?

5. a) What is industrial conflict ? Discuss the various forms of industrial
conflict.

OR

b) Explain the settlement of industrial conflicts with reference to the following :

i) Labour Court
if) Tribunals

ii) Voluntary arbitration. L

6. a) Describe the methods of redressing employee grievances.
OR
b) Examine the role of different agencies in promoting labour welfare.

12

12

12

12

12

12

12
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o ear B.Com. (Semester — VI) Examination, April 2013
COST AND MANAGEMENT ACCOUNTING (Major I)
Income Tax and Goa VAT

Duration : 2 Hours Total Marks : 80

Instructions : 1) Question No. 1 is compulsory.
2) Answer any three questions from question no. 2 to question no. 6.
3) Figures to the right indicate full marks.

1. Answer any four questions from the following : (4x5=20)

e a) Mr. Raj who was born and brought up in India, went for further studies to United
Kingdom on 1<t March, 2010 and came back to India on 2™ October, 2011.
Determine his residential status for the assessment year 2012-13.

__b) Carriers Lid. is engaged in the business of carriage of goods. On 1=t April, 2011

it owns 10 trucks (6 out of which are heavy goods vehicles). On 6" May, 2011

one of the heavy goods vehicles is sold by Carriers Ltd. to purchase a Light

g goods vehicle on 10" May, 2011 which is put to use from 17" June, 2011. Find
out the net income of Carriers Ltd. for the assessment year 2012-13.

c) Define ‘Assessee’ as per the Income Tax Act 1961.

d) The following data is taken from the books of Kantilal and Company Limited.
The written down value of Plant and Machinery as on 01-04-2011, which
is entitled to depreciation @ 25% is Rs. 2,50,000. During the year ending
31-03-2012, two machines were purchased-one on 01-05-2011 for Rs. 80,000

— — and the second on 01-11-2011 for Rs. 1,25,000. An old machine was sold for
Rs. 30,000 ‘during-the_year. Calculate the depreciation allowable for the
Assessment year 2012-13.

e) Define ‘Business’ as per Goa VAT Act, 2005.

ol

2. a) Mr. Shinde is working as a clerk in Indian Railway. The following are the
= particulars provided for the year ending 31st March, 2012. 10

i) Salary received @ Rs. 8,500 per month.
i) Arrears of salary for the earlier year received during the year Rs. 8,000.

P.T.O.
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iii) He took an advance salary of Rs. 10,000 on account of marriage in the
family and a loan of Rs. 20,000.

iv) Received bonus during the year in respect of an earlier year Rs. 3,000

v) Mr. Shinde is provided with a car for office use as well as for personal use.
The perquisite value of the same is determined at Rs. 4,600.

vi) He receives transport allowance amounting to Rs. 12,000 out of which he
actually spent Rs. 9,000 only.

vii) Entertainment allowance received during the year @ Rs. 3,000 per month.

viii) During the year he had spent on books and periodicals Rs. 1,200 and paid
profession tax amounting to Rs. 900.

Calculate the taxable income of Mr. Shinde for the Assessment year 2012-13.

b) Shri Sunil is a leading Chartered Accountant of Goa. He banks all his receipts
and makes all the payments by cheques. His receipts and payments account

for the year ending 31¢ March, 2012 is as under. 10
Receipts ‘Rs. Payments Rs.
To balance b/d. 7,500 By Salaries 76,000
To Professional fees 2,02,000 By Telephone expenses 3,500
To Gifts from clients 15,140 By Office rent 4,500
To Interest on Bank Account 6,560 By Subscription to books
To Prize received from (Professional) 2,750
Lions Club for best member By Car expenses 12,120
6f the year 5,000 @y PuLchaseﬁgf offices=—"— == g
To Dividend from Indian equipment on 01-04-2011 30,000
companies 3,800 By Advance income tax 6,000
By Donations 10,000
By Personal Drawings 50,000
By Life Insurance Premium (self) 6,230
By balance c/d. 38,900

2,40,000 2,40,000
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Compute his taxable professional Income for the assessment year 2012-13
after taking into account the following additional information.

i) Depreciation on office equipment is allowed at 15% p.a.

rd
i) Itis considered that %3 of the car expenses are for personal use.

iii) Salaries includg Rs. 6,000 paid to his daughter towards purchase of a
mobile phone to her.

iv) 10% of the office rent is attributable to his residence.

3. Write short notes on : (4%5=20)

a) Amounts received under a Life Insurance Policy u/s 10(10D).
b) Arrears of rent received u/s 25 B.
c) Transfer of capital asset u/s 2(47).

d) Profits in lieu of salary u/s 17(3)

. Mr. Ranijit Kumar from Ponda is employed with M/s Raj Oil Mills Ltd. as a marketing

Manager upto 30" September, 2011 and received the following payments during
the Previous Year 2011-12. 20

i) Basic salary Rs. 15,000 p.m.
) D.A.@20% of basic salary.
iii) Reimbursement of medical expenses Rs. 3,000.
iv) House Rent Allowance Rs. 6,000 P.M., Rent paid by him Rs. 7,000 p.m.
v) Bonus received Rs. 3,000.
vi) Profession tax paid by the émployer Rs. 1,400

From 1%t October, 2011 he started his own business. Following is his Profit and
Loss Account for the Financial Year ending 31-3-12.

Profit & Loss A/c. for the year ending 31-03-2012

Particulars Rs. " Particulars Rs.
To opening stock 30,000 By sales 3,00,000
To Purchases 1,00,000 By closing stock 20,000

To Salaries paid 20,000
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' "To Advance income tax 5,000
To Bad-debts 2,000
To Interest on bank loan 5,000
To Provision for Bad-debts 5,000
To Stationery 2,000
To Medical Insurance Premium :
Self Rs.10,000
Wife Rs. 7,000
Dependent Parents Rs.17,000 34,000
(62 years of age)

To Free distribution of samples 3,000

To Contribution to P.P.F. 10,000

To Net Profit bal. ¢/d. 1,04,000

' 3,20,000 3,20,000

Compute his total taxable income for the Assessment year 2012-13.

i e

5. Answer the following questions briefly : (4x5=20)
a) Explain the term ‘capital Asset’ as defined u/s 2(14) of the Income Tax Act,
1961.

b) Discuss briefly the exemption available u/s 10 in respect of ‘Gratuity’.
c¢) Explain the “Scope of Total Income” under the Income Tax Act, 1961.
d) State any five incomes under the head income from other sources.

6. a) Write a brief note on “Property owned by Co-owners”. el 5
b) Explain in brief deduction u/s. 80 C. 5
c¢) Define the following terms as per Goa VAT Act, 2005. 10

i) Goods u/s 2(p)

i) Person u/s 2(w).
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B.Com. (Semester — VI) Examination, April 2013
ENTREPRENEURSHIP MANAGEMENT - I o
Duration : 2 Hours Total Marks : 80

Instructions: i) Allquestions are compulsory, however internal choice is
available.
ii) Answer sub-questions in Question 1 and Question 2 in not more
than 100 words each.
iii) Answer questions from Question 3 to Question 6 in not more
than 400 words each.
iv) Figures to the right indicate maximum marks to the questions-
sub questions.
v) Paper carries maximum of 80 marks.
1. Answerany four of the following : (4x4=16)
a) Factors to be considered while selection of a product. ’
b) Features of partnership.
¢) Role of Goa Industrial Development Corporation.

d) Functions of National Institute for Entrepreneurship and Small Business
Development.

e) Need forincentives.

f) Features of Prime Minister Rojgar Yojana Scheme.

2. Answerany four of the following : (4x4=16)
a) Problems of marketing in small scale units.
b) Advantages of inventory control.
c¢) Symptoms of industrial sickness.
d) Causes of inéiustrial sickness.

e) Social responsibilities towards customers.

——f) Social responsibility of business towards employees.

P.T.O.
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3. a) Explain in detail the registration procedure followed by small scale units. 12
OR

b) Explain the steps involved in setting up a smal! scale unit in brief. : 12

4. a) Explainthe schemes of National Small Industries Corporation in detail. 12
OR

b) Explain the objectives and role of Economic Development Corporation, Goa
in promoting entrepreneurship development. 12

5. a) Explain the sources of fixed and working capital that an entrepreneur can
avail of. 12
OR

b) Explain the factors affecting choice of technology. £ 12

6. @) Whatis industrial sickness ? What are the consequences of Industrial sicknesy, 12
OR 3

b) Explain in detail the incentives and subsidies offered by Government of Goa
o entrepreneurs. : 12

-




image21.jpeg
O RAM-13

B.Com. (Semester — V) (Repeat) Examination, April 2013
BUSINESS MANAGEMENT : Major - I
(Financial Management — I)

Duration : 2 Hours Total Marks : 80

A

Instructions : 1) Question No. 1 is compulsory.
2) Answerany 3 questions from Q. No. 2 to Q. No. 6.
3) Figures to the right indicate full marks.
1. Write short notes on any four : (4x5=20)
a) Agency Problem : Managers V/s Shareholders.
? b) Financial Instruments.
' - c) Costof Retained Earnings.
d) Net Present Value Method.
e) Rightsissue.
. - f) Advantages of leasing to the lessee.
’ 2. a) Acompany issued 12% redeemable pieference shares of Rs. 1,00,000

redeemable at the end of the 10" year. The underwriting cost was 3%.
Calculate the cost of preference share capital. 5

b) A company issues 10% irredeemable debentures of Rs. 10,00,000. The
> company is in 40% tax bracket. Calculate the after tax cost of debentures
issued at

+ & i) 10% premium and
if) 5% discount. 5

¢) X Ltd. has the following capital structure

Equity shares (2,00,000 shares) Rs. 40,00,000
8% Preference shares Rs. 10,00,000
10% Debentures Rs. 30,00,000
" Rs. 80,00,000

The current market price of the equity share is Rs. 20 and the expected
dividend is Rs. 4 per share. Assume tax rate of 50%. Calculate the after tax

weighted average cost of capital based on the capital structure given. 5
d) Write a note on public issue. i
P.T.O.
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3. a) XYZ L. proposing to exp

0

and its production can go in either for automatic
machine costing Rs. 2,00,000 with an estimat
machine costing Rs. 72,000 having an estim

ed life of 5 years on an ordinary
ated life of 8 years. Income fax

rate is 40%. The annual sales and costs aré estimated as follows :

Details Automatic Ordinary
Machine Machine
Sales (Rs.) 1,40,000 1,40,000
Costs
Materials 60,000 60,000
_ Labour 10,000 40,000
Variable overheads 25,000 20,000

Find out the most profitable investment based on

i) Payback period method and

iy ARR.

b) Write a note on the types of debentures.

4. a) Followingisthe Balance Sheet of INC Ltd. ason 3

Liabilities

Equity share capital
(Rs. 100/- per share)

12% Debentures

Retained Earnings

Current Liabilities

\\

Balance Sheet
Amount (Rs.) Assets
Net fixed assets

450,000 Current Assets
3,00,000
2,80,000
1,70,000

12,00,000

1st December 2011.

Amount (Rs.)
7.00,000
5,00,000

12,00,006

-

_1!
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The Company'’s total asset turnover ratio is 4.Fixed operating costs are
Rs. 8,00,000 and its variable operating ratio is 40%. Income tax rate is 35%.
Calculate the following :

i) EPS
if) Operating Leverage
iii) Financial Leverage "
iv) Combined Leverage: 15
b) State the four approaches adopted in the computation of cost of equity capital. 5
5. a) Wealth maximisation is considered to be an important objective of Financial
Management than profit maximisation. Do you believe ? Justify your stand. 10
b) Explain the meaning and importance of cost of capital. 10
6. a) Whatdo you mean by Capital Budgeting ? What are the stages in the capital
Budgeting process ? 10

b) What do you mean by lease financing ? Distinguish between operating lease
and financial lease. 10
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B.Com. (Semester — Vi) Examination, April/May 2013
MANAGEMENT OF SMALL SCALE INDUSTRIES AND ENTREPRENEURSHIP
(Vocational)

Time : 2 Hours Max. Marks : 80

Instructions : a) All questions are compulsory, however internal choice is
W available.

b) Answer sub-questions in question 1 and question 2 in not
more than 100 words each.

¢) Answer question 3 to question 6 each in not more than 400
words each.

d) Figures to the right indicate maximum marks to the
question/sub question.

e) Paper carries maximum of 80 marks.

1. Write short notes on any four of the following : 16
1) Limitations of Break Even Analysis .
2) Importance of Budgetary Control
3) Entrepreneurship Development Programme
4) Fixed and Flexible Budgets
5) Concept of Entrepreneur
6). Importance of Profit Planning.

2. Write short notes on any four of the following : 1O
1) Need for Incenﬁves
2) Factories Act 1948
3) Workman’s Compensation Act 1923
4) Symptoms of Industrial Sickness
5) Taxation benefits for SSI
6) Role of SIDBI.

BERO.
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3. a) State and explain the various functions of an entrepreneur. : 12
OR
b) Explain the various types of entrepreneurs. 12
4. a) What is Budgeting ? Explain the merits and demerits of budgeting. 12
OR 3
b) Explain the role and functions of KVIC. 12
5. a) Explain the role of DIC in promoting small scale industries in Goa. 12
OR
b) What do you mean by industtial sickness ? Explain its causes and effects. 12
6. a) What are Industrial Estates 2 Highlight the role of GIDC in promoting : 3
Industrial Estates in Goa. 12 |
OR

b) State and explain the Incentives and subsidies available for entrepreneurs in

Goa. 12 g,

1

L ]
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| ~ B.Com. (Semester — VI) Examination, April 2013
“ ADVANCED ACCOUNTING - I
'1‘{‘ Major - | : Financial Accounting, Auditing and Taxation g

Duration : 2 Hours Total Marks - 80

Instructions : 1 ) Question No. 1 is compulsory.
2) Attempt any three questions from the remaining.
3) Each question carries 20 marks.

e 4) Working notes required wherever necessary.

1. The following balances have been extracted from the books of Aryans Ltd. as on’

31%*March 2013. 20

‘ You are required to prepare Profit and Loss A/c for the year ended 31-3-2013 ang
= Balance Sheet on that date (vertical format)

P :

- (Rs.)
Profitand Loss Account — Debit Balance as on 1-4-2012 2,00,000
Preliminary expenses 10,000

! Plant and Machinery 1,00,000

4 Furniture and Fixtures 20,000
Computer 15,000
Sales 20,00,000
Miscellaneous Receipts 1,20,000

> Opening stock of finished godds 3,00,000

= Consumption of Raw materials : 9,00,000

Closing stock of material at cost 5,00,000

Bank overdraft (secured) 1,00,000
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Share premium ; 3,60,000 »
Share capital (Rs. 100 each) 6,00,000
Unsecured loan 3,00,000
Sundry debtors 7,00,000
Salaries and wages 2,00,000
Office and Administration expenses 4,00,000
Selling and Distribution expenses ~ 1,50,000
Sundry creditors 4,00,600 g
Odutstanding expenses 15,000 ;
Advance payment of Income Tax 3,40,000
Interim Dividend 60,000 2
Information : »
1) Closing stock of finished goods at cost is Rs. 6,00,000/- ¥
2) Original cost of Fixed Assets were :
Plant and Machinery Rs. 2,00,000; Furniture and Fixtures Rs. 30,000/- and .
computer Rs. 25,000/- 5
3) Depreciation is to be charged on written down value @ 10% on Plant and
machinery and Furniture and Fixtures; and 20% on computer
4) The unsecured loan was taken on 1-1-2013 @ 18% Interest per annum
5) Provision for Income Tax Rs. 3,50,000
6) The Directors have proposed Final Dividend of Rs. 6/- on each equity shares in "
¥

addition to interim dividend already declared.

Also prepare necessary schedule.
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¢ 2. Rathor Ltd. is absorbed by Sardar Ltd. The following is the balance Sheet of Rathor
Ltd. as on 31-3-2013. 20
Liabilities Amount(Rs.) Assets Amount (Rs.)
Share Capital : Goodwill 40,000
2000 Equity shares of Rs. 100 Buildings 1,30,000
each fully paid 2,00,000  Machinery 80,000
1,000 preference shares of Stock 60,000
Rs. 100 each fully paid 1 ,00,000 Sundry debtors 30,000
General Reserve 50,000 Bills Receivable 35,000
8% Debentures 20,000 Cash 5,000
Sundry Creditors 10,000
t 3,80,000 3,80,000

Sardar Ltd. has agreed:

1) To issue six preference shares of Rs. 100 each in Sardar Ltd. for every eight
preference shares in Rathor Lid.

2) Toissue to the debenture holders in Rathor Ltd. Mortgage Debentures at Rs. 96

in lieu of 8% debentures in Rathor Ltd. which are to be redeemed at a premium of
20%.

3) To pay Rs. 25 per share in cash and to issue five equity shares of Rs. 100 each
in exchange for every four equity shares held in Rathor Lid.

4) To take over the Sundry creditors.

You are reqdired to prepare in the book of Rathor Ltd.
a) Realisation Alc

b) SardarLtd. a/c

"

¢) Equity Shareholders Account

d) Cash accountand
Pass the opening entries in the books of Sardar Ltd.
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4. The Balance Sheet of Improving Ltd. at 31 December 2012 was as follows : 20

Liabilities Amount (Rs.) Assets Amount (Rs.)
Share Capital Goodwill at cost 15,000
2000, 5% cumulative preference Freehold premises 2,00,000
shares of Rs. 100 each 2,00,000 Plantand Machinery 3,00,000
4000 equity shares of Rs. 100 each 4,00,000 Stock intrade 50,000
9% Mortagage debentures 1,00,000 Debtors 40,000
Bank overdraft ; 50,000 Profitand loss account  2,40,000
Creditors 1,00,000 Cash 5,000
8,50,000 8,50,000

The company got the following scheme of capital-reduction approved by the court ;

1) The preference shares to be reduced to Rs. 75 per share fully paid up and equity
shares to Rs. 40 fully paid up

2) The debenture holders took over stock in trade and book debts in full satisfaction
of the amount due to them

3) The Goodwill account s to be eliminated

4) The value of freehold'premises is to be increased by 30%

5) The value of plant and machinery is to be depreciated by 33%%
8) Expenses of reconstruction amounted to Rs. 3,000

Give the Journal Entries for the above and prepare the revised Balance Sheet in

the books of Improving Ltd.
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5. A) The following are the balances of Jodha Akbar Co. Ltd. as on 315 March 2013, 10 i
Debit Amount (Rs.) Credit Amount (Rs.)
Premises 30,72,000 Share capital 40,00,000
Plant 33,00,000 12% debentures 30,00,000
Stock 7,50,000 Profitand Loss Account 2,62,500
Debtors 8,70,000 Bills Payable 3,70,000
Goodwill 2,50,000 Creditors 4,00,000
Cash and Bank 4,06,500 Sales 41,50,000
Interim Dividend paid 3,92,500 General Reserves 2,50,000
Calls in arrears 75,000 Bad debts provision 1-4-2012 35,000
Purchases 18,50,000
Preliminary expenses 50,000 2
Wages 9,79,800 ,
General expenses 68,350 B
Salaries 2,02,250 ¢
Bad debts 21,100
Debenture interest paid 1,80,000
1,24,67,500 1,24,67,500
Additional Information :
a) Depreciate plantby 15%
b) Write off Rs. 5,000 preliminary expenses
c¢) Create 5% provision on debtors for doubtful debts
d) Provide for Income Tax @ 50%
e) Stock on 31t March 2013 was Rs. 9,50,000 at cost. Market value of it was .
Rs. 10,00,000 i

f) Transfer Rs. 30,000 to General Reserve

Prepare Profit and Loss account for the year ended 31-3-2013 in vertical format.
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B) Thefollowing were the Balance Sheets as on 31 December 2012 of Swati Ltd. and
Bhakii Ltd. 10

Liabilities Swati Ltd. Bhakti Ltd. Assets Swati Lid. Bhakti Lid.
(Rs.) (Rs.) (Rs.) (Rs.)
Equity share capital Land and Building ~ 3,00,000 -
(Rs. 100 per share) 10,00,000 6,00,000 Plantand Machinery 11,00,000  5,00,000
6% debentures of Stock 1,60,000 80,000
Rs. 10 each 2,00,000 — Debtors 1,40,000 90,000
Reserve Fund 3,40,000 — Cash 30,000 10,000
Employees Provident Fund 70,000 -
Creditors 1,00,000 80,000
Profit and Loss A/c 20,000 = .
17,30,000 6.,80,000 ‘ 17,30,000 6,80,000
The two companies agreed to amalgamate and form a New company called
Deepti Ltd. which takes over the assets and liabilities of both the companies.

1) The Authorised capital of Deepti Ltd. is Rs. 1,00,00,000 consisting of 10,00,000.
Equity shares of Rs. 10 each.

2) The assets of Swati Ltd. are taken over at book value less 10% with the
exception of land and buildings which are accepted at book values.

3) Both the companies are to receive 5% of the net valuation of their respective
business as goodwill.

4) The entire purchase consideration is to be paid by Deepti Ltd. in its fully paid
shares. In return for debentures in Swati Lid. debentures of the same amount and
denomination are to be issued by Deepti Lid.

Calculate purchase consideration of both the companies and show opening
Balance Sheet of Deepti Ltd.
6. Write short notes :
a) Final dividend
b) Future Maintainable Profit
¢) Pooling interest and purchase method of Amalgamation

d) Capital reduction.
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3. On 31% March 2013, the Balance Sheet of Bigdeal Ltd. disclosed the following ¢
positions : 20 F
Liabilities Amount (Rs.) Assets Amount (Rs.)
Capital in shares of Goodwill 40,000
Rs. 10 each fully paid 4,00,000 Other Fixed Assets 5,00,000
General Reserve 1,890,000 Current Assets 4,00,000
Profit and Loss A/c . 1,20,000
14% Debentures 1,00,000
Current Liabilities 1,30,000
9,40,000 9,40,000
On the above mentioned date, tangible fixed assets were independently valued at =
Rs. 3,50,000 and goodwill at Rs. 50,000. €

The net profits for the three years were :
2010-11-Rs. 1,03,200/-
2011-12—-Rs. 1,04,000/-
2012-13-Rs. 1,03,300/-

of which 20% was placed to General Reserves. This portion being considered
reasonable in the industry in which the company is engaged and where a fair

return on investments may be taken at 18%. Ignore Taxation.
Compute the value of the company’s share by

a) Intrinsic value method

b) Yield method

c) Fairvalue method
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B.Com. (Semester — Vi) Exémination, April 2013
Major — 3 : AUDITING - Ii
(Paper - i)

uration : 2 Hours Total Marks : 80

instructions : 1) All questions are compulsory, however internal choice is
available.
2) Answer sub question in question number 1 and 2 in not more
than 100 words.
3) Answer question number 3 to question number 6 in not more

e than 400 words.
4) Figures to the right indicate full marks for respective question/
T sub question.
» 1. Write short notes on the following (any four) : (4x4=16)

' a) Disqualification of company auditor
b) Audit of managerial remuneration
: ¢) Audit of share capital
d) Audit of Co-operative societies
e) Audit certificate
f) Taxaudit.
. Write short notes on the following (any four) : (4x4=16)
a) Audit of divisible profits
b) Powers of company auditors

c) Civil liabilities of auditor

d) Audit of Insurance company
e) Investigation V/s Audit
f) Problems in EDP audit.

PO
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3 A) Discuss various duties of auditor under Companies Act, 1956.
 OR

B) Explain various procedure involved in appointment of auditor.

4. A) Explain special features of audit of Banking Companies.
: OR

B) Explain special features of audit of Educational Institution.

5. A) Discuss types of audit reports.
OR

B) Define investigation and discuss general procedure involved in investigation.

6. A) Discuss special points of VAT audit.
OR
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B.Com. (Semester — VI) Examination, April 2013
COST AND MANAGEMENT ACCOUNTING
(Cost and Management Audit) (Major — [iI)

Duration : 2 Hours Max. Marks : 80

Instructions : 1) All questions are compuisory.
2) Figures to the right indicate maximum marks allotted to the
question/sub-question.
3) Answer sub-questions in Q. No. 1 and Q. No. 2 in not more than
100 words each.

4) Answer Q. No. 3 to Q. No. 6 in not more than 400 words each.,

1. Answer any four of the following : 16
i) Random selection method.
ii) inventory Control.
iif) Statutory Action.
~iv) Unqualified Report.
v) Cost Audit (Report) Rules, 1968.
vi) Notes in the CostAudit Report.

2. Answer any four of the following: 16
i) Features of Cost Audit Report.
i) Nature of Management Audit.
i) Corporate Image.
iv) Social Cost Benefit Analysis.
v) Objectives of Management Audit.

vi) Management Auditor.
P.T.0.
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3. a) How would you verify Raw materials and Components ? 12 s z
OR - .
b) Enumerate the points to be considered while verifying the Depreciation and '
Rejection.
4. a) Explain the contents of Cost Audit Report. 12
OR
b) Describe the end uses of Cost Audit Report. 12
5. a) Distinguish between Management Audit and Cost Audit. 12
OR %
b) Explain the Scope of Management Audit. 12 e
6. a) Explain the qualifications to the Report. % 8 d
b) Write a short note on the verification of the Management process. 4
OR & : 3
X) Explain the Review of Cost Audit Report. 8 .
y) Describe the Management Information System. o 4
;
1
s
Q
S
Yo (410
r 1
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B.Com. (Semester — VI) Examination, April 2013
BUSINESS MANAGEMENT (Major — Iii)
Strategic Management
Business Growth and Strategies

Duration : 2 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.

2) Answers to sub questions I & Il to be answered in not more than
100 words each.

3) Answers to questions Ill & VI to be answered in not more than 400
words each.

4) Figures to the right indicate full marks.

I.-Write short notes on any four (any 4) : (4x4=16)
§)~ Mission and strategy
\:b) Vision
¢) Risks of growth
9} Reasons for growth
)" Advantages of business plan

f) Guidelines for framing objectives.

Il. Write short notes on any four (any 4) : (4x4=16)
Jé)/lndicators of grgwtht
b) F}equirements of change.
ej/ Essential conditions of globalization.
@) Meaning and dimensions of globalization.
9)/ éompetitive advantage of nations.

f) Stages of globalization.

P.T.O.
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Ill. a) Businesses which utilize social resources for their success have an obligation

to enhance the welfare of the society of which they are a part. Discuss. 12
OR
b) Business planning is essential for success of a business. Explain this
statement in the light of the steps in an ideal business plan. 12

IV. a) What are objectives ? Why are they important }or the success of a business ?
Briefly explain the characteristics of objectives. 12
OR
b) Why is growth necesé;ry 2 Explain intensive and integrative growth strategies
pursued by a firm. 12

V. a) What are the basic reasons for‘diversification 2 Distinguish between concentric
and conglomerate diversification. 12
OR 255

b) Explain Mergers, Exporting and Joint Ventures as globalization strategies with

appropriate examples. 12

Vi. a) How is change managed ? List and explain the various types of change and
the barriers to change. 12
OR
b) What is a Corporate Mission Statement ? Explain the essential elements of a

Mission Statement. : it i 12

i

o




